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Comparing the Sources of Happiness Between Japan and the World

The Global Happiness Survey shows that Japanese people, on average,

foel that the amount of free time they have makes them happy.

The survey was conducted in 2021. The people who answered the
survey were from 30 countries with 500 to 1000 people per country.
Their ages ranged from 16 to 75. From 31 sources of happiness, ‘people
answered how happy each one made them feel.

In Japan, the number one source of happiness was “The amount of
free time I have.” Hobbies and “spending time with people” ranked 2nd
and 4th. These are things we do in our free time. Worldwide, free time
was ranked 15th, doing a hobby was ranked 12th, and “finding someone
to be with” was ranked 17th.

The results show that the amount of free time and free time activities
are important for the happiness of many Japanese. One reason could be
that many Japanese feel a lot of stress at work. Free time is a release

from stress. The survey shows us how people answered but we do not
know the reason behind their answers. To truly understand how Japan

might differ from other countries, we also need to ask why.
(199 &, 1430
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